3 (Sem-6) STS

2019

STATISTICS
( General )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
Jfor the questions '

Answer either in English or in Assamese

UNIT—] / ¢oiie—1I
1. Answer the following as directed : 1x10=10
Gere AR fAoiepis e fa

(a) 1, 25 is a real constant.
(Write True or False)

1, 25 <57 I 35 |
(371 1 farey forn)

(b) R chart is used to show of the
samples.

(Fill in the blank)

RToaR Afriym ___ amefa 331
(X1 31X [ F90)
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c)

(d)

(e)

9

)
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(2)

Name one control chart of defectives.

<51 Fooy fmae e 3 Fran

Write the three basic logical operators
of FORTRAN.
FORTRAN T foRG1 enafis (RS imadq

™ foran 1

Define estimator.
e I fad |

The sample mean is a consistent
estimator of p for an N{u, o 2) population.

(Write True or False)
B N, 02) TR ofoe MRl pq RIS
HFaAT |
(1 & fw o)
Calculate the value of 3+2°*%)/-5.
(3+2**3) /.53 T R 7|

Write any one limitation of
econometrics.

ST R @ 961 e TeEs 990

( Continued )
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(3)
) Write one property of a good estimator.
e R GOl 4 BTHY 91 |

() How many lines are there in a control
chart?

93 ez s @XomE @1 e 2

Answer the following questions in brief :

2x5=10

To 2PCIRA 59 T fay

(a) Define efficiency of an estimator.

GRFAE YBR TR T G |

(b) Write two differences between chance
causes of variation and assignable
causes of variation.

TROTR Hawite WF Aeie IR TS
1“3 s |

{c) Write two rules for naming a variable.
BT 5o AR o1 AR Bem 340 |

(d) Write the form of ‘Do’ statement in
FORTRAN 77.

FORTRAN 77 © ‘Do’ SRR 2%/ ford1 |
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(4)

fe) Explain the justification of insertion of
U-term in a linear model.

B AR e U-term3 SEEed JqeEl
M F4 |

UNiT—II / ¢aifo—II

3. Answer any four of the following questions :
5x4=20

o7e fRAl 2PREE R e wifeR e o

(a) Examine unbiasedness of

Hefoqe e 1

M S? =30 -3

(@) S2 =230 -w?
ni

where p is known for population

variance 6 2.

TS . WS Y PR 62 A |

() Compare between X and R chart in
SQC.
SQC © X W% R foaq Trers o 91 |

{c) Describe the methodology involved in
an econometric model.

S wnf¥e Ranfere Fremfs 36 34 )

( Continued ) A9/681

(5)

(d) Write a program to find the surface
area (SUR) and volume (VOL) of a box
with dimensions a b ¢, where
SUR =2(ab + bc + ca) and VOL = abc.

a, b c TS I BR PR (SUR) S
wRreA (VOL) e $fR38s @1 program form,
IR SUR =2(ab + be + cq) ¥ VOL = abce.

() Prove that sample mean is always
unbiased estimator of the population
mean.

oM T @ Ao Wy s Y MER
TAfSTS A |

(1 Discuss the role of control charts in
controlling the quality of manufactured
products.

Teofifirs SAR @Tel FRaR cvge fgd e
P S 941 |

UNIT—II / ¢sti—II1

Answer the following questions : 10x4=40

ToR TR Tl e

(a) Explain the process of the execution of
a Do Loop.

Do Loop F3 1 2ARFAICH! <4 91 |
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(6) (7)

Or / | | Or/ =%
Write a program and a flowchart that If 7, and T, are two unbiased estimators
reads an integer N and computes |V . of r() with variances of, 63 and

correlation p, what is the best unbiased
linear combination of T, and T, and what
is the variance of such a combination?

(b) Explain the utility of SQC in industry. It T, R T, r{f)3 T WS IR W
IR PRI 0 F, 03 WF TV p, (9@ T} TF

951 S4Q AN N OO F LV S FR <[
9Bl program WIF bl flowchart 31 1

Trmisre SQC T eRAEARS] M I |
T,3 e wwiowe (e I B e it 3T
Or / J<A] o 6 7
Construct a p chart using the following (d) Write the five basic assumptions of

data for a sample of 400 : . .
a linear regression model.

400 Afo( 4} e By AR IR 9H p B : 951 RS TR Wi bl gm o
P 91 ¢ faram
Sample no. 1{2|3]|]a4i5|[6]7]|8 Or/ g1

No. of defectives | 35|41 |20 |68 62| 53|29 | 34

Estimate the regression parameters

Sample no. 9 [10]11])12]13)14]15 by OLS method in a linear regression
No. of defectives | 17 | 42 | 29 | 43 | 49 | 26 | 38 model,
b1 3R s WS OLS i smnm
(c) Define consistency. State and prove &froe ey w41
invariant property of consistent
estimator, ' * % %

WA i a1 Hgsre e wf{TSAN
&f Trad IR oW w11
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